
Ilustracija uz četvrti zadadatak sa računskih vježbi 

Nizovi koji se posmatraju: X=[10,11,12,13,14] i Y=[11,12,13]. 

I=1 

X X(1) X(2) X(3) X(4) X(5) 

I 1 2 3 4 5 

I+J-1 1 2 3   

vrijednosti X 10 11 12 13 14 

Y Y(1) Y(2) Y(3)   

J 1 2 3   

vrijednosti Y 11 12 13   

 

I=2 (poklapaju se!) 

X X(1) X(2) X(3) X(4) X(5) 

I 1 2 3 4 5 

I+J-1  2 3 4  

vrijednosti X 10 11 12 13 14 

Y  Y(1) Y(2) Y(3)  

J  1 2 3  

vrijednosti Y  11 12 13  

 

I=3 

X X(1) X(2) X(3) X(4) X(5) 

I 1 2 3 4 5 

I+J-1   3 4 5 

vrijednosti X 10 11 12 13 14 

Y   Y(1) Y(2) Y(3) 

J   1 2 3 

vrijednosti Y   11 12 13 

 

 


